FR26FETEHBR—ER

R T | wmm | "R | MREE
ANTE AREAV)UIL] 8.6% 9385.8 109482.1] 118867.9
RXTE JNFAEEAL] 49.5% 1833.0 3700.0 5533.0
ATE ES[KkWh] —6.6%| -2832320 | 4291438.0] 4008206.0
RXTE ISR (L] (Tsh+AEH) —96%| -152310| 1578900] 142659.0
ANTE L IKE[m3] -9.0%  -1040.0 116170  10577.0
XTE #1F7K [m3] 13.7% 3171.0 23089.0]  26260.0
ANTE AR # [kel -148%| -3114.4 21072.8 17958.4
XTE TS # kel 40.2% 874.0 2175.2 3049.2
ANTE JE—F#f kel 2.3% 3668.5 156584.8| 160253.3
BEHERTEX NFEEHYYUIL] —4% 973.0)] 225110 215380
EHERTEXT ANFEEEHRL] 12% 236.3 2035.7 2272.0
BEHERTEX ES[kWh] -6%| (17112.0) 2976660 | 280554.0
EHERTEXT I EBREHL] (KTH+AEH) —10%|  (3196.0)] 326380 294420
BEHERTEX FKiE[m3] -13% (440.0) 3380.0 2940.0
BHERTEX1 #F 7K [m3] 0.0 0.0 0.0
BHERTEX1 AR A [kel 17% 998.7 5792.5 6791.2
BHERTEX1 RS 2 [ke] -18% (346.3) 1977.0 1630.7
BEHERTEX aF—F#[ke] -23%|  (1982.6) 8708.2 6725.65
IRHABRITEX2 NREAHVYUIL] —6%|  (1151.1)] 201706 190195
IRABEITEX2 A FEEH[L] ~100% (690.0) 690.0 0.0
RIFSRTEX2 ESR [kWh] —4%| (100038.0)] 2279296.0 | 2179258.0
RASRITEX2 THEMREHL] (KTH+AER) -34u| (62110 182110  12000.0
IRHASRITEX2 K3 [m3] -26% (411.0) 1577.0 1166.0
RABEITEX2 #F 7K [m3] 0.0 0.0 0.0
WHERTEX2 AR H [ke] -20% (294.0) 1455.0 1161.0
IRABEITEX2 RS # kel 37% 52.0 1410 193.0
IRHASRITEX2 aF— Ak [ke] 3% 1055 3859.3 3964.7
BEHERTEXS NFEEHYYUIL] 129 (1694.0)| 146140 129200
BHERETEXS3 A FREEH[L] 0.0 0.0 0.0
BEHERTEXS B [kWh] -10%| (13026.0)] 1330680 120042.0
BHERETEXS3 OERE R (L] (T3 +AEH) —11%|  (1546.0) 140000 124540
BHERTEX3 ki [m3] 0.0 0.0 0.0
BHERETEXS3 #F 7K [m3] —14% (147.0) 1084.0 937.0
BEHERTEXS AR # [ke] -39% (453.4) 1166.0 7126
BHERETEXS3 RS # [ke] —6% (4.6) 77.0 72.4
BEHERTEXS aF —F# [ke] 27% 7895 2880.3 3669.7
A RTE X4 NFREHYYUIL] 3% 4550 | 171550 17610.0
HEHEERTE X4 NFREEML] 0.0 0.0 0.0
BEHARTE X4 ES[KWh] 2% 23650 | 1243490 | 1267140
BEHESRTE X4 I EMREHL] (KT +AEH) 31% 42000 | 136000 [  17800.0
A RTE X4 EKiE[m3] -18% (233.0) 1316.0 1083.0
HEHEERTE X4 #F 7K [m3] 0.0 0.0 0.0
BEHERTE X4 AT # kel 100.0% 759.5 0.0 759.5
HAHBESRITEX4 TR #[ke] 100.0% 1435 0.0 1435
EHERITEXS I — Ak [ke] 50% 1556.4 3134.0 4690.4
A ESRITEXS5 NEEHYYUIL] 68% 2137.0 3164.0 5301.0
FHEESRITEXS5 NFEEHL 0.0 0.0 0.0
FAEERITEX5 ES[KkWh] 0% 3290 | 802820 80611.0
AEERITEXS ZEIRE IR L] (KTl +AEH) 0% 0.0 7000.0 7000.0
A ERITEXS5 EKiE[m3] 9% 49.0 523.0 572.0
FHEESRITEXS #h R 7K [m3] 0.0 0.0 0.0
A ERITEXS5 AR # [kel —15% (112.0) 759.5 6475
HESRITEXS5 TR A [kel -26% (38.0) 145.0 107.0
FHAEERITEX5 aE—F# [ke] 73% 260.4 358.8 619.1
BAMHER NEEAHVYUIL] -43.4% -254.0 585.0 331.0
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g EFEES = | H255FE | H26%5F

B4 aE | mme | MR | HOER
BAVHERT ANFEEAL] 0.0 0.0 0.0
B ANHER ES [kWh] —72%| -18876.0| 2606220 2417460
BAVHER HE IR (L] (KT +AEH) —250%|  -30000] 120000 9000.0
BANHER ki [m3] —5.8% -312.0 5370.0 5058.0
BAVHER #h R 7K [m3] 0.0 0.0 0.0
BANHER A # kel 100.0% 1430.0 0.0 1430.0
BAVHER AT H kel 100.0% 260.0 0.0 260.0
B AHERT aF —F# [ke] 0.0% 0.0 30.8 30.8
EERFEE NFREHYYUIL] -36.1% ~129.0 357.0 228.0
AEFEE JNFAEEAL] 0.0 0.0 0.0
EERFEE ES [KkWh] 39%| 261370 6759850 7021220
AEFEE ZEHEIREHL] (STH+AEH) -7.7% 55000 | 710000|  65500.0
HEFEEE K& [m3] 0.4% 17.0 4039.0 4056.0
AEFEE #h T 7K [m3] 0.0 0.0 0.0
EEFEEE AR A [kel ~7.1% ~269.0 3771.0 3502.0
EEFEE TS # kel 4.8% 450 931.0 976.0
EEFEE aF— Ak [ke] -85.1% ~586.3 688.8 1025
EE 2T AREHYYUIL] 0.0 0.0 0.0
HREIE SNFREER[L] 0.0 0.0 0.0
HEREEHEA ES [kWh] 14.3% 19290 [ 134950 154240
RREHA ZEEA S IR L] (AT +AE ) 0.0 0.0 0.0
EGE 2T ki [m3] -16.0% -4.0 25.0 21.0
HREIE #F 7k [m3] 0.0 0.0 0.0
EE 2T AT # kel 0.0 0.0 0.0
RSB RS # [ke] 0.0 0.0 0.0
EE 2T aE— Ak [ke] 14.3% 157.4 1100.9 1258.3
ABREIEAT AREHVYUIL] 0.0 0.0 0.0
pNUE T NFAEEAL] 0.0 0.0 0.0
pNUE T ES[KWh] —99%| -20180| 203840 18366.0
ABREFRT EIRE IR [L] (T h+AE ) 0.0 0.0 0.0
pNUE T L+ 7K5E [m3] ~5.6% 4.0 71.0 67.0
pNUE TR #h T 7K [m3] 0.0 0.0 0.0
pNUE X T AR # [ke] —23.0% —79.2 3444 265.2
pNUE TR TR # [ke] 0.0 0.0 0.0
pNUE T aF — Ak [ke] ~18.9% —410 2173 176.3
IR R B FE AT [(H26 5T ER ) AREHYYUIL] 642.0 642.0
IR E AT [H26 51 5% ) A FIEEEE L] 0.0 0.0
IR R B FE AT [(H26 5T ER ) ES[KkWh] 0.0 0.0
IR E AT [H26 51 5% ) TR BRR L] (AT 3+ A ) 0.0 0.0
IR A= AT [H26 7 5% ) K3 [m3] 0.0 0.0
IR F A E AT [H26 37 5% ) #F 7K [m3] 0.0 0.0
IR A= AT [H26 7 5% ) AR A [ke] 0.0 0.0
RFH R B FEAT [H26 57 ER ) K # kel 0.0 0.0
R R B FEAT [H26 5T ER ) aE —F#k [ke] 0.0 0.0
HEAEEEA— NEEAHVYUIL] 25.9% 117.0 451.0 568.0
HEEFE2— 4 FREEEH[L] 0.0 0.0 0.0
HEAEEE— ES[KkWh] 0.0 0.0 0.0
HEEFE2— ISR (L] (Tsh+AEH) 0.0 0.0 0.0
HEAEEEA— ki [m3] 0.0 0.0 0.0
HEEFE2— #h T 7K [m3] 0.0 0.0 0.0
HEAEEEA— AR # [ke] -8.6% 8.0 93.0 85.0
HEEFE2— RS # [kel -10.9% ~10.0 920 82.0
HEEEEA— I — Ak [ke] -4.5% -13.8 307.5 293.7
ERLHEBEFE L 3— AREHAVYUIL] 0.0 0.0 0.0
ERLEEEFE TS — A FEEHL] 0.0 0.0 0.0




TH26FEF AR —ER

S il BEF | ypg | N25EE | H26EE
BEHBEEL A~ T (%) | = S
FEFH ) R— Ty, : 0 0.0 0.0
g%:gigg;g S8 L T AR 00 00 00
ey — K& [m3 : '
HEHBEE S~ iﬁ-,;;[:ﬁ 00 00 00
HEEHEAE S — IR kel 0 00 00 00
EREBEFEES— =7 ke —6.2% -1.5 242 297
BEHEEEE 5 — S —FHlke] ~2.2% 0.1 16 25
AR L ~485% 483 99.6 513
= NRAEHVYVL] ~16.0% - '
BB N - 16.0% 187.0 1169.0 982.0
HIEFR :giﬁ’mu 14.9% 17.0 114.0 131.0
:ﬁﬂﬁﬁ?_f ER [kWh] 50 n =5
4 FIX HE (o8 & T3 3 - . -
T %JFJ%“IZ&H[L] (ATih+AEH) 17.6% 3000.0 17000.0 20000.0
[ L+ KB [m3] 0.0 0.0
L 46 T2k [m3] 5 : 00
;ﬁ BH—_F 5 ﬂ%j}}[kg] - 0 0.0 00
IR = '.J‘H[ —1.2% -18.0 250.0 2320
SHIFER :é'\kﬁﬁﬁk[i] ] ~9.0% -9.0 100.0 910
= = —Hiftlke —1.0% _
PR EE 3 i BREAYY L] R BT T B
Bh S ZE =TSP AFRESE L] —— : 15230 1513.0
PR 370 = 100% 2001 2000] 1800
B X [kWh] . :
B K i 28 S 35 A R I . , 0.0% 80| 333340 | 33342.0
R s o0 o 2R o ZEREMRREIL] (KTm+AEH) 0.0
Bﬁﬂﬂﬂ::%a’%’:ﬁ' F K& [m3] - 0.0 0.0
Bh S ZEE 5P e 24.5% 39.0 159.0 198.0
WP i AT 4 [ke] : 00 00 00
BT % o] ais] 0] sseo 470
B TE X 3 Zé“—ﬁﬁfﬁﬁ[kg] 6.7% 16.0 238.0 254.0
BT hBBERE SR NEB=a0) [AREA V)L o - 2 00
R NBRERL S (AP EEEST) [AMEEALL] Sl L o
R hERE R A i BEE AL B [wn] 46.904. 591.0 1261.0 1852.0
B ARRERL s GirsrEREat [ERSRRLGEAED | | o] oo] oo
RFNBEAERT 5 RAANEEEE0) | LAl Ime] : —— 00 0.0 0.0
R HBBERT S (RHATEREED) BT AKImd] TH 9001 20004 1510
BT NERER T S (BHAMEEEEG) | # (ke ., o 00 00
BT A ERER S BHAMEEEET) | R 7 k) 1AM 9791 207 2946
BT hBBERL S—(BAPNMEEZED) [IE— Mk = - 24 387
BAREL S — kel -36.5% 2911 7975 506.4
i NAEAVYUIL] oy : :
BARE L H— NETE 54%  71350) 25000 23650
BARRELZ— r;.a,_-[kvf/’h] ] -8.0% 1230 1539.0 1416.0
BAREL 52— EEERE , . “46%| 43500 | 940920 | 897420
BARE T SHSEHLIGIATAEE | os] w00l wovel sdoo
HARE L2 — mﬂ%%:g 00 00 00
BRGREL I — YRS 7 [ke] - 00 00
BRRE L I— =% [kg] 24.0% 4600 [ 19200 23800
HARE L Z— :lt‘:“:ﬁﬁﬂ&[i ] 0.0 0.0 0.0
EEEATA— ’\Fﬁijj"“ | ‘g 106.4% 269.5 253.3 522.8
wEBARAEA— ﬁﬁﬁiixéEJ/[L] 22.3% 211.0 946.0 1157.0
EEE AT A— %/ﬁ[kvj\x\][l—] 75.0% 509.0 679.0 1188.0
EEERTA— s : i 70.0%| 118985.0 1699480 | 2889330
5@;‘;‘5 Ty . f;ﬁ?ﬁ&ﬂ[u (KTim+AZEH) 18.6% 1300.0 7000.0 8300.0
BEBAL S S 00| oo oo
BEBREA— WA= ke 0.0 0.0 00
R AR A — = -\r:ﬁ[kg 47.9% 100.4 209.6 310.0
EEEATA— :II::‘:FH%R[i] ] 691.7% 166.0 240 190.0
EBHEREL TS — ’Aﬁﬁiﬁl“yu ~g[|_] —36.2%  —166.1 459.2 2932
EAREEL > 5— AREEAL] ol 62001 600201 53620
EABERIE 52— —— 9.1% 1340 14720 1338.0
g, X\ [kWh] - 0
5.8% -7860.0 134388.0 126528.0
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fEHEEELE2— EERE R L] (KT +AEH) —250%  -40000 | 160000 | 12000.0
EHEEENLE2— 7K [m3] -0.9% -12.0 1352.0 1340.0
fEHEEELE2— #F 7K [m3] 0.0 0.0 0.0
EHEEENLE2— AR A [kel 12.1% 122.0 1007.0 1129.0
EHEERELE2— AT H [kel -9.4% -27.6 292.1 2645
EHEEENLE2— aF —F# [ke] 3.6% 96.1 2691.9 2788.0
IRABEEUA S F— NREAHVYUIL] -97%  -3330 34250 3092.0
IRF BRI 2— SSFRESRL] 0.0 0.0 0.0
IRABEEUA S I— ES [kWh] -37% 14290 385740 371450
IRF BRI Z— ISR (L] (Tsh+AEH) 28.4% 11385 4010.0 51485
IRABEEUA S I— EKiE[m3] —2.4% -110 459.0 4480
IRF BRI Z— #h T 7K [m3] 0.0 0.0 0.0
RFBEEUET— AR # [kel -15.9% -88.2 555.7 4675
IRF BRI 2— RS # [ke] 0.0% 0.0 86.5 86.5
R EEREA T 2— Ot — ik [ke] -22.3% -241.9 1086.5 8446
B EREIL T 2— AREHYYUIL] ~2.6% -75.0 2836.0 2761.0
o R P SN FREER[L] 0.0 0.0 0.0
B EREIL T 2— EX [kWh] 3.5% 9370 | 267550 276920
o R P EERE W L] (KT +AEH) 7.0% 65.0 934.0 999.0
B EREIL T 2— ki [m3] 13.8% 430 311.0 354.0
o R P # T 7K [m3] 0.0 0.0 0.0
B EREIL T 2— AR A [kel 40.6% 312.0 768.0 1080.0
BHERENLEI— RS 2 [ke] —25.0% -30 12.0 9.0
B EREIL T 2— O —F# [ke] 9.3% 71.8 772.9 844.6
AEgEEILE 72— AREHVYUIL] —99%  -607.0 6115.0 5508.0
FrEEEittE 72— SN FREEM([L] 51.5% 861.5 16715 2533.0
AEgEEILE 72— ES[KkWh] —35% 27740 802570| 774830
FrEEEiLttE 72— IS RE L] ATh+AEH) 11.5% 820.0 7100.0 7920.0
Rt 72— 1+ 7K5E [m3] —93%  -1220 13155 11935
FrEEEittE 72— #F 7K [m3] 0.0 0.0 0.0
FrEEEitt 72— AR # [ke] —11.2% —42.2 377.2 335.0
FrEEEittE 72— IR # [ke] —86.8%|  -415.7 478.7 63.0
FrEEEittE 72— aF — Ak [ke] 1.6% 36.9 2238.6 22755
RS f@t B ER A AFREHYYUIL] 4.4% 2220 5092.0 5314.0
HBEBAARERFT A FREEH[L] 0.0 0.0 0.0
S @ttt ER A B [kWh] 11.0% 145760 | 1328320 147408.0
ettt tE KPR TR MR L] (AT 3+ A ) 0.0 0.0 0.0
RS @ttt ERFr EKiE[m3] —2.2% -56.0 2588.0 2532.0
HE e R #F 7K [m3] 0.0 0.0 0.0
S @ttt ER A A # kel 18.3% 246.9 1351.3 1598.2
HBE1EUARERRT K # kel -19.1% -102.4 535.7 433.4
RS @ttt ERFr aF —F# [ke] 16.2% 2487 1530.7 1779.4
fBHE R4 ER X6 AREAVYUIL] 1% 462.0 4128.0 4590.0
fRHELREAMER X6 ANFEEHRL —7% (385.0) 5266.0 48810
fRHEILREAMEEE X6 ES[KkWh] —ou|  (21547.0)| 10026380 | 981091.0
faHEILREAREEE X6 EERE IR (L] (KT +AE ) 0.0 0.0 0.0
fRHEILREAMEEE X6 ki [m3] -12%]  (1121.0) 9432.0 8311.0
fRHELREAMER X6 #h T 7K [m3] 0.0 0.0 0.0
fRHEILREAMEEE X6 AR A [kel 0% 0.0 360.0 360.0
fRHEREAMmER X6 AT # kel 0% 0.0 132.0 132.0
fRHEILREAMEEE X6 O —F#k [ke] 8% 3413 4431.0 4772.3
MR NEEHYYUIL] —12.4% -99.0 800.0 701.0
M= AN FREERM([L] 0.0 0.0 0.0
MR ES[KkWh] —41% -4527.0| 109519.0 [ 104992.0
M= oL L] (KTH+AE ) —97% 24350 251970 227620
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MEE EKiE[m3] —2.9% -78.0 2678.0 2600.0
M= #h T 7K [m3] 0.0 0.0 0.0
= E WA # [kel —4.4% -119.1 2706.7 2587.6
M= TR # [ke] ~23.5% -19.5 83.1 63.6
MR I —F#k [ke] 10.5% 283 268.8 297.1
BEREME L 2— ANREHYYUIL] -17.3%|  -498.2 2876.2 2378.0
BEREMEL 72— AR 29.8% 480 161.0 209.0
BEREME L 2— ES [kWh] —6.5% -106221.0 | 1639403.0 | 1533182.0
BEREMEL 72— HE IR (L] (TS +AESH) -340%| -95300| 280600] 185300
BEREME L 2— L 7K5E [m3] —2.6% ~99.0 3767.0 3668.0
BEREMEL 72— #h R 7K [m3] 0.0 0.0 0.0
BEREME L 2— AR A [kel —1.5% -16.0 1103.0 1087.0
FEREME R 2— R # kel -2.5% -15.0 607.0 592.0
BEREME L 2— aF —F# [ke] 3.4% 246 729.8 754.4
TEREfiit 32— NFAEAVYUIL] -16.4% -443.9 27108 2266.9
TERiit 32— SN FREEEM([L] 0.0 0.0 0.0
TERfit 32— E&[kWh] -7.0% -222332.0 | 3174514.0 | 2952182.0
TERiit 32— WIS RE L] KTh+AEH) -80% -89400 [ 1120000 [ 103060.0
TERfiTt 32— EIKiE [m3] 14.9% 486.0 3260.0 3746.0
TERiit 32— #h R 7K [m3] 21.1% 30040 | 142390 172430
TEREfiit 32— AR A [kel 0.0% 0.0 13920.0 13920.0
TERiit 32— TR # kel 0.0% 0.0 864.0 864.0
TEREfiit 32— aF—F#k[ke] 20.9% 217.3 1037.3 1254.6
fEHEEXBMEMZERER AREHYYUIL] 15.0% 118.0 789.0 907.0
fRHEEXRMEMFERE SN FREER[L] 245.5% 105.6 430 148.6
fEHEEXBMEMZERER ES [kWh] —9.4% -216300| 228936.0| 207306.0
fRHEEXRMEMFERE IR (L] (TS +AEH) —183%| —64990| 3549900| 290000
EHEEEHMTEMN 2R £ K& [m3] 3.0% 60.0 2024.0 2084.0
RHEERMEMZER # T 7k [m3] 0.0 0.0 0.0
fRHEEXBMEMZERER A # kel 0.0% 0.0 1800.0 1800.0
RHEERMEMZER RS # [ke] 0.0% 0.0 600.0 600.0
fRHEEXRMEMZERER aF —F# [ke] 7.4% 63.6 856.9 9205
HEEEXERNEMZER AREAVYUIL] 34.3% 156.0 455.0 611.0
FEEXEBMEMER AFEEHRL] 100.0% 230.0 0.0 230.0
HEEERMEMZER ES[KWh] —47%| -48780| 1039560| 990780
FEEXEBMEMZERE WIS RE L] (Tsh+AEH) ~16.0%| -1209.0 7567.0 6358.0
HEEERMEMZER 1+ 7K5E [m3] ~0.1% 10 674.0 673.0
FEEXEBMEMZER #1 R 7K [m3] 0.0 0.0 0.0
HEEEBRMEMZER AR [ke] 0.0% 0.0 600.0 600.0
%ﬁ’ﬁf:ﬁ% it B P2 B KT # kel 0.0% 0.0 120.0 120.0
BEERMEMZERE aF —F# [ke] 24.7% 96.4 3895 4859

i #Euu,’EI%FﬁKJE BEA AREHYYUIL] ~13.1% -150.0 1146.0 996.0
EHEBTIERKEEEEHER NFEEHL] 0.0 0.0 0.0
12 #Euu,’EI%FHKJE BEA ES[KkWh] —16%| -37544.0 | 2331924.0 | 22943800
EHEREBIERKESHEEREN PR IR L] (AT 3+ A ) 0.0 0.0 0.0
EHEBTERKEEEERENR K& [m3] 49.5% 1100 2220 3320
EHEBETERAKEETEEER #1 R 7K [m3] 0.0 0.0 0.0
EHEE T ERKEESIEERR WA # [ke] —1.2% -30 258.0 2550
12 #Euu,§I¥ﬁ7k;E FEE Y TR #[ke] -2.4% -1.0 410 40.0
EHEBTERKEEEERENR aF — Rk [ke]l 64.5% 410 63.6 104.6
HE)I#thXKEESEEFHE NREHVYUIL] 3.2% 82.6 2603.4 2686.0
HE I XK E EEBEFEA 4 FREEEH[L] 0.0 0.0 0.0
HE)I#th XK EEEEFH ES [kWh] —1.0% -934700 | 9412294.0 | 9318824.0
HE I XK E EEEFEA ISR (L] (T +AEH) 0.0 0.0 0.0
B )X K E S EEFHET K& [m3] 3.2% 13.0 412.0 4250




FR26FETEHBR—ER

g EFEES = | H255FE | H26%5F

B4 aE | mme | MR | HOER
HE I X KE SRR #F 7K [m3] 0.0 0.0 0.0
HE )X KE S BB AR # [ke] 13.2% 51.1 388.4 439.5
B XK EEBRERFT TR H kel -23.4% -436 186.1 1425
HE )X KE S BB O — Ak [ke] 9.3% 185 198.9 217.3
RF X KEEIEEFFA AREAHV)UIL] -14.3% -206.0 1438.0 12320
RFAKESE NFEEAL] 0.0 0.0 0.0
RFAFKEEIE ES [KkWh] —2.3%| 924840 | 4051656.0 | 3959172.0
RFAKESE ML (L] (KT +AE ) 0.0 0.0 0.0
RAKEEE K& [m3] 0.0 0.0 0.0
RIFKEETE #h T 7K [m3] 0.0 0.0 0.0
WA KEEE m R A kel -1.3% -6.3 499.1 492.8
RIFKEETE TS # kel -20.3% -23.9 117.8 939
RFKEEE aF — Ak [ke] —41.2% ~43.1 104.6 615
T/ R—rEHFIEE2— ANREHYYUIL] -12.2% -77.0 629.0 552.0
TH/R—rEHE L 2— JNFREER([L] ~100.0% ~78.0 78.0 0.0
T/ R—rEHF L 2— BES[KkWh] -3.7%| -132624.0 | 3567444.0 | 3434820.0
T/ R—rEHE L 2— EERE R L] (KT +AEH) —79%| -820000 | 10340000 | 952000.0
T/ R—rEHEEE 2 — FKiE[m3] -6.2% ~248.0 3999.0 3751.0
T/ R—MMEFHEIEE 52— #F 7k [m3] 0.0 0.0 0.0
T/ R—rEHF L 2— AR A [kel -31.3% ~70.6 2254 154.8
TH/R—rEH L F— R kel -100.0% -4.2 42 0.0
T/ R—rEHFIEEF— aE— Ak [ke] 2.2% 4.1 186.6 190.7
LEEYEE NREAHVYUIL] —6.6% ~116.5 1773.0 1656.5
DEiEYE SN FREEM([L] 0.0 0.0 0.0
DB EYEE ES[KkWh] 10%] 231360 | 2364504.0 | 2387640.0
LEiEYE IS RE L] ATh+AEH) 12.5% 95000 | 758000 |  85300.0
BEEYEE K& [m3] 2.0% 200.0 10224.0 10424.0
DEiEYE #h T 7K [m3] 0.0 0.0 0.0
DEEYEE AP # kel -31.6% -37875| 11983.1 8195.6
LEEYEE AT # kel —10.7% —58.4 544.3 4859
B tEYEE aF—RA#f kel 33.5% 4756 14186 1894.2
S EYEE AREAHVYUIL] 57.7% 272.1 4720 744.1
FESR EER A FREEHL] 0.0 0.0 0.0
S iEYEE ES[KkWh] 104%] 793420 7633920 8427340
FESR i EE Te R[] (KT +AEH) —83%| -80000| 960000 88000.0
S EYEE FKiE[m3] 5.4% 159.0 2940.0 3099.0
FESR EER #F 7K [m3] 0.0 0.0 0.0
S EYEE AR 2 [ke] —1.1% 8.0 724.0 716.0
FE SR S M £ T # kel -10.1% -24.0 2385 2145
S EYEE aF —F# [ke] —47.5% —29538 623.2 3274
X1TEE NREAVYUIL] 49.4% 230.0 466.0 696.0
X000} ANFEEHRL] 0.0 0.0 0.0
EMEE ER [kWh] 239% 1873950 | 7851100 | 972505.0
X000} ISR (L] (Tsh+AEH) 14.4% 66760 | 463240  53000.0
Effree FIKE[m3] 11.3% 337.0 2970.0 3307.0
X000} #h T 7K [m3] 0.0 0.0 0.0
E1iEE AR # kel 13.2% 153.0 1155.0 1308.0
X000} RS # [kel 14.3% 19.0 133.0 152.0
E1iEE aF—F#fk kel 14.6% 420 288.5 330.6
= IR R EYEE AREAHVYUIL] -19.2% —125.7 654.7 529.0
=R EYEE A FAEEHL] 0.0 0.0 0.0
= IR R EYEE ES[KkWh] 487.2%| 4718070 968500 | 568657.0
=R E R EYEE PO HRREL (L] (TS +AEH) -100.0%] 60720 6072.0 0.0
=R R EYEE EKiE[m3] 33.5% 192.0 573.0 765.0
=R E R EYEE # T 7K [m3] 0.0 0.0 0.0
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IR R EYEE AR A [kel ~0.4% -10 233.0 232.0
=B EYEE TS # kel -3.1% -10 320 310
= EESRIEYEE I —F#k [ke] ~1.8% —46 2542 249.7
—ERHEKENEREE AREAHVYUIL] —11.7% -56.0 480.0 424.0
—EAHEKENEREE NFREE[L] 0.0 0.0 0.0
—ERHEKENEREE ES[KkWh] 26% 28630 1099750 | 1128380
—EAHEKENEREE ERE R L] (KT +AEH) 0.0% 00| 240000| 240000
—REANFEKENMEREE £ KB [m3] -4.8% -63.0 13120 1249.0
—EAHEKENEREE #F 7K [m3] 0.0 0.0 0.0
—ERHEKENEREE AR A [kel —5.1% -19.8 388.0 368.2
—EANTEKENMERIEE TS H kel -2.1% -1.0 47.0 46.0
—ERHEKENEREE aF — Ak [ke] 35.4% 106.6 301.4 408.0
B XIS NFREHYYUIL] ~6.6% -610.0 9185.0 8575.0
EEAERIS NFAEEAL] 13.4% 508.0 3801.0 4309.0
BEXHERIS B [kWh] -07%| -56160| 796680.0| 791064.0
BEEHERIS WEERE L] ATh+AEH) —240% -91650| 382430 290780
=X RIS K3 [m3] 10.1% 710.0 70581 7768.1
EEFE I #h T 7K [m3] 27.9% 4008.5 14387.3 18395.7
EXERERIG AR [ke] —5.9% ~926 1579.0 1486.4
BEEHERIS RS # [kel -12.8% -651.8 5110.0 44583
=X RIS O — Ak [ke] —~2.5% -410 1664.6 1623.6
HEMERtr 22— AFREHYYUIL] 39.6% 1112.0 2805.0 3917.0
BEEMEL 22— SNFEEAL] -43.0% ~754.0 1754.0 1000.0
BEMERtr 22— ES [kWh] 11.6%] 187590 | 1611540 179913.0
BEEMEL 22— IR (L] (TS +AEH) -155% -21960| 141910] 119950
BEMERtr 22— ki [m3] 2.2% 39.0 1741.0 1780.0
BEEMEL 22— # R 7K [m3] 0.0 0.0 0.0
HEMERtr 22— AR A [kel 764.3% 214.0 28.0 2420
B=Etr 34— TR kel 191.7% 230.0 1200 350.0
BEHEE 22— aF —F# [ke] —16.7% -51.3 3075 256.3
ZBEGRE AREAHVYUIL] —4.1% -128.0 3103.0 2975.0
BEHERG ANFEEHRL] -19.3% -431.0 2237.0 1806.0
ZBEGRE ES [kWh] —12.7%| 253250 | 1989520 173627.0
BEAERG WIS RE L] (Tsh+AEH) 3.9% 127.0 32250 3352.0
ZBEGRE K3 [m3] 8.5% 248.0 2931.0 3179.0
BEERS #h T 7K [m3] 0.0 0.0 0.0
ZBEGRE AR # [kel 35.1% 1740 496.0 670.0
BEHERS RS # kel 80.4% 615 76.5 138.0
ZBEGRE aF —F# [ke] 0.0% 0.0 250.9 250.9
BiHEREYS AREHYYUIL] 9.6% 95.0 989.0 1084.0
RS R HBUS A FREEH[L] 6.7% 12350 | 184800 | 197150
BiHSRESS ES[KWh] 7.1%] 176010 2462970 263898.0
RS R HBUS PO BREL (L] (TS +AEH) 0.0% 20 5498.0 5500.0
BiHs RESS EKiE[m3] 0.0 0.0 0.0
B S R HBUS #F 7K [m3] 0.0 0.0 0.0
BiHs RESS WA # kel -35.3% -18.3 517 335
B S R HBUS RS # [kel 0.0 0.0 0.0
RS R B0S aE —F#k [ke] 0.0% 0.0 102.5 1025
S8/ BUS NREHVYUIL] —14.7% -137.0 930.0 793.0
8 FE U5 NFEEmRL ~11.3% -728.0 6422.0 5694.0
S8/ BUS ES [kWh] —51%  -13160 | 255540 | 242380
8 FE U5 SRR (L] (Tsh+AEH) 29.1% 351.0 1207.0 1558.0
SEFE WIS L+ IKE[mM3] 9.8% 250.0 2558.0 2808.0
R PUE #F 7K [m3] 0.0 0.0 0.0
$EFE BUS A # kel 9.5% 20.0 210.0 230.0
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8 F BUS RS A [kel —24.0% ~60.0 2500 190.0
38/ BUS aF —F# [ke] ~15.6% -10.8 69.6 58.8
RERBEEN NFREHYYUIL] -0.7% ~24.0 3611.0 3587.0
RERBRELEMN NFEEAL] 46.2% 532.0 1152.0 1684.0
RERBEERN ES [KkWh] 3.3% 5701.0 | 1718330 1775340
RERBRELEMN ISR (L] (Tsh+AEH) —42%| -18700| 441400| 422700
RERBEEN K& [m3] 6.4% 410 641.0 682.0
RERBRELEMN #1F7K [m3] 0.0 0.0 0.0
RERBEERN AR # [ke) —1.3% 05 375 37.0
RERBRELEMN TR # [ke] —2.4% 0.5 205 20.0
RERBEERN aE —F#k [ke] 5.9% 10.3 1743 1845
JKEERIS AREAHVYUIL] 0.4% 155 3738.0 37535
JKEESERIS ANFEEEHRL] 0.0 0.0 0.0
JKERERIS ES[kWh] 9.3%| 284750 307501.0 | 335976.0
JKEESLERIS AR (L] (KT +AESH) —11.2%| -184880| 1648100 1463220
JKEESBRIS 7K [m3] 0.0 0.0 0.0
KEESERIS # R 7K [m3] 0.0 0.0 0.0
JKEEE BRI AT # kel 4.5% 332 738.7 7719
JKEAER IS R A [kel -22.2% —22.9 1032 80.3
JKEEE BRI aE— Ak [ke] 21.9% 102.5 468.8 571.3
HISRE L I— NGE DO -12.9% -72.0 558.0 486.0
HiEBRELA— AFEEHRL 114.4% 349.0 305.0 654.0
HISBE L I— ES[KkWh] -4.9%] -51730.0 | 1053747.0 | 1002017.0
HiEBRELA— THEMREL] (KTH+AER) 11.1% 140000 | 1260000 | 140000.0
HISRE L I— EKiE[m3] 0.0 0.0 0.0
sizimﬁ%t/'ﬁ— #h T 7K [m3] 0.0 0.0 0.0
HISRE L I— ‘Ilﬂk:‘&[kg] 9.9% 2.8 28.2 310
;izim,ﬁﬁt/'ﬁ— TR # [ke] 27.1% 3.2 118 15.0
HiEREL A— aE— mﬁ&[kg] 100.0% 1025 1025 205.0
RKERE 32— NAEHVYUIL] 23.0% 20.0 87.0 107.0
RKE#RE 32— AFEEHRL 29.9% 4750 1588.0 2063.0
RKERE 32— ES[kWh] 14.2% 1140000 | 8021760 916176.0
RKEHREE 72— ZESMEE R (L] (KTSM+ASE ) 17.4%| 349020 | 200098.0 | 235000.0
RKERE 32— £ K& [m3] 33.7% 504.0 1495.0 1999.0
RKEHREE 72— #1 T 7k [m3] 24.2%| 2251350 | 9302280 | 1155363.0
RKEREtE 52— AT # kel —1.1% 8.0 701.0 693.0
RKEHREE2— K # kel -4.9% 50 103.0 98.0
RKEREtE 52— aF —F# [ke] —25.0% —410 164.0 1230
BEeY) -t 23— NREHVYUIL] 6.0% 391.0 6564.0 6955.0
BEy) -t 3— NFREEHL] 28.2% 2340 829.0 1063.0
BEY) -t 23— EBR[kWh] -3.9% -209380| 5329700 512032.0
wEy) -t 3— THEMEHL] (KTH+AER) -3.1% 8190 | 266310 258120
WaEY) vt R3— EIKiE [m3] 5.0% 686.0 13661.0 14347.0
=W a O #1F 7K [m3] 0.0 0.0 0.0
BeEy) -t 23— AR [kl -5.1% -47.0 917.0 870.0
=W a O TR #[kel -21.1% -39.0 185.0 146.0
BEy) -t 23— aF—RA#f kel 12.0% 105.7 880.6 986.3
BmMIHAZER AREAHVYUIL] 11.0% 78.0 711.0 789.0
B RN THER AN FREEE([L] 0.0 0.0 0.0
BmMIHAZER ES[KkWh] -33%| 45420 1364460 1319040
B RN THER eI RELL] (KTh+AZEH) —16.4% 20250 123250 103000
BRI HER EKiE[m3] 25.0% 1439 5754 719.3
B RN THER # R 7K [m3] 0.0 0.0 0.0
BmM AR _Hé’*fé’%[kg] —7.8% ~756 969.6 894.0
BT e IR # [ke] 0.0 0.0 0.0
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B &0 TSR S — Ak [ke] 0.0 0.0 0.0
BHEIAERFR (EREMAEE 4 —E0) |AREAVIUIL] 0% (4.0) 29897.0| 29893.0
EHEIAREBR (EEENARE 2—E) | NREEHIL] -24% (416.0) 1699.0 1283.0
BRI AEHER (BEEMMEE 2—8T) [EXR[kWh] 17%| 539210.0 | 3124068.0| 3663278.0
EHIAREER(ERENME L I—S) |ZREREIL] (KTih+AEH) -13% (2330.0) 176000  15270.0
BRI AEHE (BEEMHEE 2—aT) | EKEIMSI] —5% (154.0) 3118.0 2964.0
EHIAREZR(BREHMEEI—SD) |#TFKIm3] 0.0 0.0 0.0
BHIAREERR (EEREMAEL 4—ED) | # kel -21% (380.1) 1806.1 1426.0
EHEIREBR (BEENARE I—EL) | FBRS# kel 30% 4499 1479.1 1929.0
BHEIARERR (EREHHEEL2—ED) |2E—R#flke] -9% (490.0) 5617.0 5127.1
=EE KREFHER NFREHYYUIL] 38.7% 4732.0 122130] 169450
—ELKREHEM SSFRESR[L] 11.6% 41.0 352.0 393.0
—EEKREHEHN ES [KkWh] 27.4% 2317580 8469640 10787220
—ELKREHEM ERZ R (L] (AT +AEH) 0.0% 0.0 160000 160000
=E X KREFHER EKiE[m3] -2.3% -19.0 844.0 825.0
=EEKREHEM #h R 7K [m3] 0.0 0.0 0.0
—EE REFHEM AR # kel 33.3% 316.5 949.8 1266.3
=EL REFEM RS # [kel 57.7% 265 459 724
=ELXKREHEM aF — Ak [ke] 3.7% 84.0 2300.1 2384.2
BHEIRKKEFTS) AREHYYUIL] 28.1% 4860.0 172770 221370
BHEIRKKHFTS) AR —209%  -267.0 894.0 627.0
BHEIRKKEFTS) ES [kWh] 27.7% 382000 138087.0] 176287.0
BHEIRKKHFTS) I EBREHL] (KTH+AEH) 35.6% 3555.0 100000  13555.0
BHEIRKKEFTS) ki [m3] 0.0 0.0 0.0
BHEIRKKEFTS) # R 7K [m3] —4.7% -61.0 1287.0 1226.0
BHEIRKKEFTS) AR # [ke] 62.1% 365.0 588.0 953.0
BHEIRKKHFTS) RS 2 [ke] —~6.5% ~10.0 153.0 1430
BHIRKKEFTS aE— Ak [ke] -36% 1146 3191.9 3077.3
BHEERKEELUTS) AREAHVYUIL] 9.0% 479.0 5322.0 5801.0
BHEIRKEELUTS) ANFEEHRL] -15.2% -59.0 388.0 329.0
BHERKEELUTS) ESX [kWh] 320% 415070 1297320 171239.0
BHEIRKEELUTS) WIS REH L] (Tsh+AEH) —204%  -4630 2269.0 1806.0
BHERKEELUTS) K3 [m3] 100.0% 353.0 0.0 353.0
BHEIRKEELUTS) #h T 7K [m3] —231%|  -106.0 459.0 353.0
BHEERKEELUTS) AP # kel —57.0%  -749.0 1315.0 566.0
BHEIRKEELUTS) RS # kel —60.5%  -127.0 210.0 83.0
BHEERKEELUTS) aF — Ak [ke] 16.0% 49.2 307.5 356.7
AEEIARAKRTE (RELKREHE) AREAHVYUIL] 10.7% 1958.0 183170 202750
AT ARARTE (HELKREHEM AN FREEE[L] 61.2% 640.0 1045.0 1685.0
AEEARAKRTE (RELKREHEM) ES[KWh] 30.0%| 4274450 | 14237680] 1851213.0
FAREIARKRTE (RELTKREHER) |ZHAFRBILGTh+AEH) 0.0 0.0 0.0
AEEARAKRTE (RELKREHEM) FKiE[m3] —6.9% -57.0 832.0 775.0
AT ARARTEHKELTKREHER) | TFKIm3] 0.0 00 00
AL ARAKRTE (RELKREHEM) WA # [ke] —278% -1630.0 5860.0 42300
AT ARTE (HELTKREHE A" H [ke] ~7.5% ~250 335.0 3100
AL ARAKRTE (RELKREHEM) aE —F#k [ke] -50%  -168.2 33935 32254
IS (BiH £ REHA AREHYYUIL] —15.6% -27430 175910] 148480
fE I ARTS (FAH £ REHA) ANFEEHRL —465%  -7120 1531.0 819.0
fFIAETES (B HEKREH ES[KkWh] 14.8% 2330460 | 15771080] 1810154.0
IS (FAH £ REHA) SRR (L] (Tsh+AEH) -18.9%| -3400.0 18000.0]  14600.0
fFIAETES (B HEKREH ki [m3] 13.1% 180.0 1370.0 1550.0
fE I ARTS (FAH £ REHA) #h T 7K [m3] 0.0 0.0 00
IS (BiH £ REHA AR A [kel -320% -2374.0 7414.0 5040.0
fE IR S (FAA £ REHA) TR # [ke] —16.7% -60.0 360.0 300.0
IS (B £ REHA O —F#fk [ke] —143%  -4113 28815 2470.3
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s NS B EX TN NREAHVYUL] 37.0% 193.0 521.0 7140
B AR E3 JNFAEEAL] 52.9% 211.0 399.0 610.0
EEEENS - S EX TN ES [kWh] —52%  -1949.0 377240| 357750
SEFH Y LR ISR (L] (AT +AEH) 0.0 0.0 0.0
EEEENS - S EX TN EKiE[m3] 12.1% 18.0 149.0 167.0
B AR E3 T #h R 7K [m3] 0.0 0.0 0.0
EEEIENR =S ES 3 WA # [kel —558%  -248.8 4460 197.2
B AR E3 T RS # [ke] 91.9% 17.0 185 355
EEEENS S EX TN aE —F#k [ke] 31.6% 112.8 356.7 4695
BEv &K EFV LGS BIEER AREAHVYUIL] 11.1% 100.0 897.0 997.0
fEr S K FEFI AR EEEEMN JNFREE([L] —324%  -1810 558.0 377.0
BEv &K EFV LGS BIEEH BES[KWh] -04%  -8950[ 2406120 2397170
BEr R - K EFI LS EHEERM SRR (L] (AT +AEH) 0.0 0.0 00
By R -KEFIVLNEEESEERA £ KB [m3] 5.3% 130 2430 256.0
fEr S K EFI AR S EEEIRMR #F 7K [m3] 0.0 0.0 00
ey Bk EFY LGS EEEIEFR A # [ke] 0.0 00 00
fEr s K EFI AR S EEERMN RS 2 [ke] 0.0 0.0 00
BEv & - K EFV LGS BIEER O — Ak [ke] —54.5% 615 112.8 51.3
TEN-FLEFNILAESETEERR |2RESYIUIL —1.2% -50 4190 4140
BN -Z2EFNILAKEEEEIERN |aREEHL] -186%  -141.0 759.0 618.0
BFE)-FLEFNILAEEESEER |ERkWh] —28% 39850 1405250 136540.0
BTEN-FXFNSLAMEEEEEN [ZASRHIL GTA+HAEH) 100.0% 610.0 0.0 610.0
AN 2L FNSLEAEEERR [ EKEIMS] —4.8% 20 420 400
EBEN-FLFNTLEESEEEER |[#eTFKIm3] 0.0 0.0 0.0
BN -FEFINFLAMEEEEER | # kel 535.1% 152.5 285 181.0
HTEN-ETFNYLMESTEEIHRR | AR H kel 433.3% 26.0 6.0 320
BN -FEFINFLAMEEEEHER |OE—MA#filkel ~36.1% -533 1476 94.3
LEF BB M S EIBEB AREHYYUIL] —6.1% -56.0 924.0 868.0
L -y MRS EEER A FREEH[L] —14.6% ~61.0 4170 356.0
LEF-#Rs M S S BT ES[KkWh] —04% 11340 285689.0] 284555.0
L -y MRS EEER Te I REH L] (KT +AEH) 100.0% 200.0 0.0 200.0
IGE - A8 MRS EIBREIER FKiE[m3] -26.7% -12.0 450 33.0
LE -y MRS EHEIF T 7K [m3] 0.0 0.0 0.0
LEF-#Rs M e EBERM AR # [kel ~7.2% 58 80.8 75.0
LEF- MRy M S TS RS # [ke] -25.0% 5.0 20.0 15.0
LEF- BB M S EIBERM aF — Ak [ke] ~10.7% -12.3 1148 1025
BHAELEEHEM AREAVYUIL] —1.5% -310 2004.0 1973.0
fRHBLEEHEM ANFEEHRL] 0.0 0.0 0.0
fRHEEEHEM ES[KWh] 6.2% 67850 1004910 116276.0
fRHBLEEHEM WIS REH L] (Tsh+AEH) 0.0% 0.0 5000.0 5000.0
BHEZEHE EKE[m3] 22.2% 2340 1055.0 1289.0
fRHBLEEHEM #h T 7K [m3] 0.0 0.0 0.0
RHEEEHEM AR # [ke] ~16.9% -76.8 4542 377.4
fRHBLEEHEM RS # [kel 0.0 0.0 0.0
RHEBEEHEM O —F#k [ke] -3.6% -155 43538 4202
fRHEEEHEM NEEHYYUIL] 3.2% 29.0 913.0 9420
RHEEEHEM NEE N 142.6% 917.0 643.0 1560.0
fRHEEEHEM ES[KkWh] -20.6% -10579.0 512340|  40655.0
RHEEEHEM PO PR (L] (AT S+ AEH) ~50.0% -20.0 400 20.0
fRHEEEHEM EKiE[m3] 0.0 0.0 0.0
RHEEEHEM #F 7K [m3] 0.0 0.0 00
fRHEEEHEM AR # [kel 1.1% 4.0 366.0 370.0
RHEEEHEM RS A [ke] 300.0% 9.0 3.0 12.0
fRHEEEHEM aE—F# [ke] 17.1% 410 239.9 280.9
fRHREDEIEEHEMN AREAVYUIL] 42.9% 129.0 301.0 430.0
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t2FHERE D B e B 7 JNFREE[L] 0.0 0.0 00
RHERE DG ES [kWh] -76% -3739.0 488920| 451530
BHEREDEIEEFHEHN EEIRE IR (L] (KT +AEH) 0.0 0.0 00
EHERE D EE ST £ K& [m3] -32.7% -130.0 398.0 268.0
t2FHERE D B e B 7 #h R 7K [m3] 0.0 0.0 00
fBHERE DG EIE AR [ke] 0.0 0.0 0.0
t2FHERE D B e B 7 RS # [kel 0.0 0.0 00
RHRE DG aF — Ak [ke] —22.0% —90.2 4100 319.8
EEFELI— NEAEAVYUIL] -21.4% -182.0 851.0 669.0
Y EFELI— SNBSS 0.0 0.0 0.0
EEFELI— ES[KkWh] 0.0 0.0 0.0
EEFELw 21— ZEHEIREHL] (STH+AEH) 0.0 0.0 0.0
EEFELI— EKiE[m3] 0.0 0.0 0.0
EEFEELw 21— #1F7K [m3] 0.0 0.0 0.0
EEFEL2— AR # [ke] 0.0 0.0 0.0
Y EFEL2— TS # kel 0.0 0.0 0.0
S EFEtA— aF— Ak [ke] 28.4% 218.5 768.8 987.2
EEBESEHEMN AREHYYUIL] 6.2% 176.2 2861.8 3038.0
ERMBAEEHEM SNFREER[L] 0.0 0.0 0.0
EEBESEHEMN ES [kWh] 2.3% 6370 273110 279480
EREHESHEM LR L] (KT +AEH) -103%| 6990 6787.0 6088.0
EEBEEHEN ki [m3] —6.3% ~26.0 416.0 390.0
ERMAEEHEM # T 7K [m3] 0.0 0.0 0.0
EEBESEHEMN AT # kel 3.9% 17.2 43538 453.0
EREHEEHEM TR A [kel ~0.4% 0.4 104.6 104.2
EEBESEHEMN aE— Ak [ke] 7.0% 75.6 10765 1152.1
BHEFHLEER AREHVYUIL] —3.8% 6138 1628.7 1566.9
B EE N EEIER NFAEEAL] ~67.9% ~761.0 1121.0 360.0
EHEFHNREHER B [kWh] -47.7%| -363204.0 | 7619040 398700.0
B EE N EEIER WIS RE L] ATih+AEH) -80.5%| -591700| 735000 143300
R EE N EEEMN L+ 7K5E [m3] —289%| -165110| 570740| 405630
B EE N EEIER #h T 7K [m3] 0.0 0.0 0.0
R EE N EEEMN AR # [ke] —505%| -365260| 723100| 357840
B EE N EEIER RS # [kel -9.0% —64.0 712.0 648.0
B EE N EE IR O —F#fk [ke] —1.1% 2.1 178.4 176.3
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eVl AR # kel 18.8% 220.0 1170.0 1390.0
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=3E AREHVYUIL] 100.0% 500.0 0.0 500.0
HIXE AFREERL] 63.3% 19.4 30.6 50.0
=S S [kWh] 48%| 212470 4436420 464889.0
IS ZERAEIEL] (KT +AER) -3.5% -931.0 26226.0 25295.0
=5HEE FKiE[m3] -3.9% -8400 | 214920 206520
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EREES NFAEEAL] ~43.0% ~175.0 407.0 232.0
ERES B [kWh] 1.3% 41110 | 3162400 320351.0
EEES WEERE L] ATh+AEH) —71%| -1889.0| 265410] 246520
ERES K3 [m3] -154% -1060.0 6886.0 5826.0
EEES #h R 7K [m3] 0.0 0.0 0.0
ERES AR [ke] 0.0% 0.0 1540.0 1540.0
EEES RS # kel 0.0% 0.0 1070.0 1070.0
ERES aE —F#k [ke] 6.8% 745 1090.6 1165.1
BHEMKS AFREHYYUIL] 14.5% 61.0 4210 482.0
BHEMS SN FREER[L] 2134  -4310 2021.0 1590.0
BHEMKS ES [kWh] —47% -192070| 4085640 389357.0
BHEMS I EREHL] (KTH+AEH) 2.1% 6070 | 287640 | 293710
BHEMS £ KB [m3] 0.6% 720 11258.0 11330.0
BRHEMS # T 7K [m3] 0.0 0.0 0.0
BHEMS AR A [kel ~2.2% ~78.0 3527.0 3449.0
BRHEMS RS # [ke] ~0.4% ~11.0 2476.0 24650
BHEMNS aF —F# [ke] -8.4% —114.1 1355.0 12409
RHEES AREAVYUIL] -513% 4125 8035 391.0
RHAEES NFREEML] 32.0% 659.5 2063.0 27225
RHEES ES[KWh] 16.6% 577750 | 3490560 | 406831.0
RHAEES WIS RE L] AT h+AEH) 6.8% 14919 | 220030 234949
IWHEES £ KB [m3] 30.7% 1417.0 4617.0 6034.0
RHAEES #F 7K [m3] 0.0 0.0 0.0
RHEES AR # [ke] 20.3% 917.0 4523.0 54400
RHAEES AT # kel 27.9% 301.0 1079.0 1380.0
IWHEES aF—RA#f kel 186.7% 2303.4 1233.7 3537.1
INVEIKES[H27EER) AREAHVYUIL] 2.5% 10 40.0 41.0
INVEKES[H278E#R] A FREEH[L] -88.9%| -1276.0 1436.0 160.0
INVEKES[H27BER] BESR[kWh] -21%] -140510| 6621660| 648115.0
INVEKES[H278E#R] PO BREL (L] (TS +AEH) 2616% 275300 | 105240| 38054.0
INVEKES[H27BE#R] K8 [m3] -12.1% -360.0 2975.0 2615.0
INVEIKE S [H27ER) #F 7K [m3] —12.7% —27.0 212.0 185.0
INVEIKE S [H27EER) AR # [kel 0.1% 10 1330.0 1331.0
IVEIKE R [H27B 4R ) TS # [ke] 0.0 0.0 0.0
INVEKEE[H27BE L] aF — Ak [ke] —36.6% 2157 590.1 374.4
B AREHAVYUIL] 0.0 0.0 0.0
BlEEiis JNFREE([L] —19.5% —22.0 1130 91.0
B ES [kWh] 0.1% 4440 | 3886740 | 3891180
BlEEiis SRR (L] (Tsh+AEH) —142%]  -36220| 254210] 21799.0
Bl Lt KiE[m3] —11.5% ~715.0 6237.0 5522.0
BlEEiis #F 7K [m3] 0.0 0.0 0.0
Bl A # kel —15.4% —484.0 3145.0 2661.0
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i TR #[kel -3.9% ~42.0 1065.0 1023.0
B2 aF— Ak [ke] 15.3% 139.7 914.3 1054.0
HFITES NEAEHVYUIL] 0.0% 0.0 40.0 40.0
HF2IT%S NFEEAL] 0.0 0.0 0.0
HFITES B [kWh] -8.1%| -23700.0| 2938440| 270144.0
HF2IT%S ISR (L] (Tsh+AEH) -82%| 16190 198630 182440
HFITES L IKE [m3] -12.8% -579.0 4539.0 3960.0
HIT%S R 7K [m3] 0.0 0.0 0.0
HFITES m R A kel -2.8% -260.0 9410.0 9150.0
HITXES IR H kel -4.8% -40.0 825.0 785.0
HFITES IE—R#k[ke] -10.6% -100.5 951.5 851.0
RETES ANREHYYUIL] 0.0 0.0 0.0
RETES SN 0.0 0.0 0.0
RETES ESR[kWh] -0.6% 13650 2167320 215367.0
RETES I EMREHL] (KTH+AEH) -46% -10580| 231480| 22090.0
RETES £ KB [m3] 36.4% 949.0 2610.0 3559.0
RETES # R 7K [m3] 0.0 0.0 0.0
RETES A A [ke] 0.0% 0.0 1810.0 1810.0
RETES TR H[kel 0.0% 0.0 555.0 555.0
RETES aE— Ak [ke] 18.1% 565.5 31283 3693.8
HEITES NRBEAHV)UIL] -1.0% -5.0 504.0 499.0
BHEITEXS SN FREERM([L] 0.0 0.0 0.0
HEITES BR[kWh] 0.4% 858.0 | 2400600 | 240918.0
BHEITEXS IS RE L] ATh+AEH) 8.5% 11860 | 139200] 151150
HEITES K& [m3] -2.6% -136.0 5206.0 5070.0
BHEITEXS #1F7K [m3] 0.0 0.0 0.0
HEITES AR H [kel -21.6% -2480.0 11505.0 9025.0
BHEITEXS TS # kel 2.2% 67.0 2988.0 3055.0
HEITES Ot — ik [ke] -7.7% -98.1 1277.0 1178.8
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